SAS coding and instructions for applying components of variance analysis 

In the following example for the U.K. data for the five elections held between 1955 and 1970, the model assumes a dataset with the Conservative and Labour vote arranged by districts in rows and the election years in columns. Each cell of the data table, then, is the vote percentage for the party in the given district.  The columns heading data for the Conservatives are entitled uk5570c1, uk5570c2, etc., and the Labour data has parallel nomenclature.   An additional column titled “districts” is a simple counter of the districts (e.g. it would run from 1 to 435 for the United States). Arranged as such, the SAS coding required to run the model is as follows:

data uk5570;

        array c uk5570c1-uk5570c5;

        array l uk5570l1-uk5570l5;

                    do i = 1 to 5;

                        conserv = c{i};

                        labour  = l{i};

                        time = i;

                        output;

                end;

        keep district time conserv labour;

proc varcomp data=uk5570 method=type1;

        class district time;

        model conserv labour= district time;

run;

Using the Conservatives as an example, SAS then returns data and evaluative statistics for each party.  For the Conservatives, the data are portrayed as follows: 

Dependent Variable: Conservatives

Type 1 Estimates

	Variance Component        
	Estimate

	Var(District)                
	267.43589

	Var(Time)
	4.61609

	Var(Error)
	10.34751


where “District” is our measure of district heterogeneity, “Time” is our measure of electoral volatility, and “Error” is our measure of the district-time effect.
